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General instructions
1 ZoMERTE, ABRFEHROSRE S5 E TRV TR,
You must not open this examination sheet before the examination start.
2 FERTE, COREEED TN TIN-VhE,
There are four pages including this cover page.
3 RREE, TNUREREOBESEERICRATA L L,
Write your answer in the appropriate place on the answer sheet.
4 FEBESY, SMERBRORBESREETNCLTEATSZ &,
Write your examinee's number in the appropriate place on all the answer
sheets. |
5 AR, 12045 ThD,
Answer time 1s 120 minutes.
6 TEEE MElFosaZERTLIZ &,

Use the space within the examination sheet for draft Writing.
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Umbrella species
Basal species

Omnivores
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¥Endanger species

1I. Explain each of the ecological terms (1) to (5) in English,

(1) Minimum viable population (MVP)
(2) Life table

(3) Linkage density

(4) Carrying capacity

(3) Key stone species
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M. Natural selection is the mechanism that dri-ves adaptive evolution. It will favor
traits that allow individuals possessing those traits to leave more descendants.
These individuals are said to be fitter, and evolution in general maximizes fitness.

Answer questions (1) to (3) in English.

(1) Explain the steps that natural selection operates within 100 words.
(2) Describe the three types of natural selection.
(3) Explain the term of fitness briefly, and add an O to a right sentence anda * to

a wrong sentence in the following sentences @D to &.

(D Fitness is absolute.

@ Fitness cannot be compared across species.
@ Fitness is not only about reproduction.

@ Fitness is a short-term measure.

® Fitness is not about individual traits.
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TV. Interactions between populations can be classified on the basis of either the
mechanisms of the interaction or the effects of the interaction. In categorizing
interactions on the basis of mechanism, the six interactions from (1) to (8) can be
identified between individuals of different species. Choose the suitable explanation

representing them from A —F in the lower box.

(1) Competition
(2) Predation
(3) Herbivory
(4) Parasitism
(B) Disease

(6) Mutualism

A, One animal species eats part or all of a plant species
B. Two species live in close association with one another to the benefit of both

C. Two species use the same limited resource, or seek that resourecs, to the detriment
of both

T, An association between a pathogenic microorganism and a host species in which

the host suffers physiclogically
E. One animal species eats all or part of a second animal species .

F. Two species live in a physically close, obligatory association in which the parasite

depends metabolically on the host
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